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b.

2a.
b.

3a.
b.

Explain with produclio1 ru]gs fol tffiuwater jug problern, w,$ere.2 jugs

3 gallons to get exactly 2 gallon df-adit€r. .," .'
Distinguish between breadth ffisrffitch and depth first seffi"

OR
Explain problem characteristics for a heuristic search.

Module-2
How do you diftrent between tbrward and backward reasoning with example.
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Fifth Semester B.E. Degree Examination, Dec.2023 I J an.2024

Artificial lntelligence
Time: 3 hrs. Max. Marks: 100

Note: Answer any FIVE full questions, choq,;ing ONE full question ftfry"r modute.

a -.i;i\

are 4 gallons and
(10 Marks)
(10 Marks)

(10 Marks)

Consider the following graph, Find the cost eflbctive path from state A to final state J
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us was a rol
us was born

:r,dllllrr "'

.,4

ivf A[ men are -trt?lffi q.' .

*=?,ffry) A11 Pompeiapdjd When the volcah$tupted in 79AD
tfl'vi) No mental lives longer than 150 y,par

," . ,',
OR

a. Explain Proportional resolution algorithm.
b. Explain unify algorithm for example

{x: int y: y -+ x]

"''' Module-3
a. Explain with an example, to* rUSlffiIle ability for backtracking. (10 Marks)

b. Explain Baye's"ttfl&rem. Using Baye's theorem suppose a screening test for a disease has

l% of false psitive rate ind l% of false negative rate. Suppose the rate of disease in the

populatiorr is*0.002. Find the percentage of,randomly selected persons tested positive.
(10 Marks)
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Fig Q2(b)
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Module4
Explain Conceptual Dependency (CD). Draw the CD representation fort'John ate a Frogo'.

(10 Marks)

Define script. Write a restaurant script for i'.lohn went out to restaurant last night. He ordered

steak. When he paid for it, he noticed tliat he was running out o{money. He hurried home

since it has started to rain" *"'...,.....] r., "' (10 Marks)

Exprain cYC ffi*ff 
'". 

* 
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(05 Marks)

State where in CYC ontpb"s hllowing concept shffifall
i) Cat 

" "".ii) Count case

OR
Explain Semantic Nets, write a Semantic Net represe

.,+.,tt-1

Explain property inheritance algorithm for frames.
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"John gave the book to
(10 Marks)
(10 Marks)

(05 Marks)

(10 Marks)

(10 Marks)
for a fragment of English.

(10 Marks)

(08 Marks)
(06 Marks)
(06 Marks)

8a.
b.

10 a.

b.
c.

Explain
Explain
Explain

iii) New York times
iv) Frames
v) Glass of water

c. Write min-max algorithm. Apply min-max algorithm for the below graph
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: &SFte learning ii) I eafning by taking advice
Wirrcton's learning prSgram.
knowledge acqu'i$ftrbn for expert system.
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Fig Q8(c)

2 6f2


